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HISTORY
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

The method of Radiocarbon Dating 5. Match List — | with List — Il and
was used in India for the first time at select the correct answer with the
(A) Deccan College, Pune help OLf the (iodes given E‘?'OW I:I
. ist — ist —
(B) ZmﬁgcaaallbaRdesearch Laboratory, (Kingdom) _(King)
(C) School of Archaeology, New a. Kuru L Nlc_haks_hu
Delhi : b. Kek_aya 2. Parlkshl'Fa
i c. Kasi 3. Asvapati
(D) Tata Institute of_FundamentaI d. Vatsabhumi 4. Ajatasatru
Research, Mumbai Codes -
) . a b Cc d
Where were the_ first Palaeolithic A 2 3 4 1
tools found in India ? B 1 4 2 3
(A) Hallur © 3 2 1 4
(B) Kurnool D) 4 1 3 2
(C) Pallavaram _
(D) Tekkalkota 6. After Hastinapur was swept away by
floods the Pandavas shifted their
Arrange the following archaeologists capital to _
in the chronological order and select (A)  Kausambi
the correct answer with the help of (B) Kurukshetra
the codes given below : (C)  Ahichchhatra
(i)  James Fergusson (D) Indraprastha
(i) James Princep 7. Pataligrama, which later became the
(iii)  Alexander Cunningham famous city of Pataliputra, had been
(iv) Edward Thomas fortified intitially by
) A) Bimbisara
Codes: & Kok
(A) () () (iv) (i) (C) Ajatasatru
(B) (iv) (i) (i) (i) (D) Udayabhadra
© (i) Gv) @) (@) 8.  ‘Dharmaraja’ too was a title of
(D) (@) (i) (i) (iv) (A) Ajatasatru
(B) Asoka
The Harappa culture people inherited (C) Kanishka
the knowledge of wheat, barley and (D) Harshavardhan
cotton  cultivation  from  their . . . :
ancestors of the following : 9. Du_rlng Alexander’s invasion of India
(A) Kot Dij which of 'ghe fol!owmg_ was ruled by
) two hereditary kings with the help of
(B) Amri a council of elders ?
(C) Mehrgarh (A) Ashtakaraja (B) Abhisara
(D) Kalibangan (C) Kshudraka (D) Pattala
Paper-111 D-06-13



qeaA — 11

HORG]

AT ;T TR H UEENR (75) SE-fohedd We § | Ul U o g1 (2) 3 € | Wt e e €

1. feampae fafr fearor o wgia & wEm

TEATH Fel gl AT ?

(A) <H hrerst, IO

(B) TiIehet REe TaRed, SRURTER

(C) T 31 3Teherst, A% fgeed!

(D) 2Tl RIS 3 wUgm=al Rad,
T

2. IRA H TR IO U0 FeATAH et
et & 2
(A) &R (B) FTIA
(C) dootera (D) CFRCIHIT

3. fefeifed  qUceiet & 3%
HATHH B Fafed Hife a2 = iJe
T e P e § Tel IR BT T4
FHIT :

(i) i= wE

(i) g Ry

(iii) TEToIUEY HHEH

(iv) TeaE o

e :

(A) (i) (1) (v) (i)
(B) (v) (i) (i) (i)
(C) (i) (v) (i) (i)
(D) (@) (i) (i) (iv)

4. FEU GEHA & AN A TE, ST qAT HU
N Gl H FH AR gast §
fopa
(A) e st (B) om
(C) wewg (D) HrefE

D-06-13

5.

T g & g i T

4T T % i T W HEl I B =I
HifeTT
= - | =it - 1
) (&)
a o 1. =g
b. & 2. it
c. M 3. fFeu
d. ey 4. 3T
FT !
a b Cc d
A 2 3 4 1
B 1 4 2 3
C 3 2 1 4
D 4 1 3 2
FEARY & A1E | 9% S o 918 arvea
T 3O ST qRadd o
(A) T H (B) FoEH
(C) oifcesa d (D) U= H

URfcTg, S Wadl Hel W gUies
TRefE TR s T, # U o

TTERROT AT o
(A) fafeEr =

(C) TRy =

(B) eI A
(D) I{IIZ A

‘YU o7 Uk ST off
(A) ST H  (B) 3TN @i
(C) HFT=h = (D) uaEs H

ey & YR HHT & qEd
fAfefad & ¥ Fet e B T

TET ¥ JF SR TS M i o 2
(A)  3TTHIS (B) SR
(C) &= (D) uUder
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10.

11.

12.

13.

14.

‘Pautavadhyaksha’ was incharge of
which department under the Mauryan
administrative system ?

(A) Weights and measures

(B) Forest resources

(C) Navy

(D) Shipping

Match List — | with List — Il and
select the correct answer with the
help of the codes given below :

List—1 List— 11
(Ancient (Modern
Places) Location)

a. Pushkalavati 1. Begram
(Afghanistan)

b. Kapisa 2. Halebid
c. Gangavadi 3. Charsadda
(Peshawar)

d. Dvarsamudra 4. Mysore
Codes :

a b Cc d
A 3 2 1 4
(B) 2 1 3 4
C 3 1 4 2
(D) 1 3 4 2

Identify the Tamil anthology which
is devoted to the praise of Chera
Kings

(A) Narrinai

(B) Padirruppattu

(C) Aingurunuru

(D) Kuruntogai

Nahapana’s defeat at the hands of
Gautamiputra Satakarni is attested by
which of the following coin-hoards ?
(A) Erakina (B) Nasik

(C) Qunduz (D) Ujjayini

Who among the following rulers had
performed the maximum number of
Asvamedha sacrifices ?

(A) Samudragupta

(B) Kumaragupta |

(C) Pushyamitra Sunga

(D) Pravarasena |
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15.

16.

17.

A drama named ‘Kauntaleshwar
Dautya’ has been attributed to
Kalidasa by

(A) Kuntalesha

(B) Bharavi

(C) Rajasekhara

(D) Kshemendra

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :
Assertion (A) : Harshavardhana,
according to the Chinese
traveller Hiuen Tsang, not only
followed Buddhism, but also
had a marked antipathy to the
Brahmanical religion.

Reason (R) : Some seals which
refer to his elder brother as a
Buddhist describe Harsha as a
devoted Saiva.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Match List — | with List — Il and
select the correct answer with the
help of the codes given below :

List-1 List— 11
(Ancient Towns) (Present Site)
a. Anahilavada 1. Mandsor
b. Aihole 2. Amaravati
c. Dhanyakatak 3. Badami
d. Dasapura 4. Patan
Codes

a b c d
A 2 1 4 3
B) 4 3 2 1
C 3 4 1 2
D) 4 1 2 3

D-06-13



10. HF vA-EEn W g’ g
formT =1 v STt BT o1 2
(A) Hm-dieT (B) = TRl
(C) =T (D) HrEEA
11, gl = gE-1| | ot s ue
3T T Pz T TEET ¥ T S B T
HIFTT
=i - | =it - 1
@ RE) (R )
a. UShalEdl 1. SUTH (STRIHEM)
b. e 2. TS
c. WEme 3. TRHE (YIMER)
d. RO 4. TR
%
a b c d
A 3 2 1 4
B 2 1 3 4
Cc 3 1 4 2
M 1 3 4 2
12. 39 WA HA-TUE T TdH S0 e
= AT % ATAHI Hl T B T ?
(A) gt (B) g™
C) U (D) o=
13. TG IMAROT & 2il T i WIS
fatEd § 9 fh9 JETUE § JEmTT
Bt & 2
(A) wiwu (B) e
(C) F=7 (D) sttt
14, TAfArEd s § § fREa gaites
YUY T3 T FEITE foha ot ?
(A) wEsTd (B) PRI I
(C) TAFIET (D) WoREH |
D-06-13

15.

16.

17.

AT Tl “ShidAve] SIcd’ ATHE ATeh

&1 TG 8 o1 9 fohgeh g fear man
g2

(A) Fao (B) 9Rfa

(C) TswIER (D) &=

I T A {U W E, TH B B

(A\) T T & 3 TA N HROT (R)

FUT (A) : T A TR F SR
TS A Hhad dkg ¥F
STAET o A SR g6 F 6
Tarreft off o |

FHRUT (R) : FS YW, ST 3TF 30
WA 1 g oA Sard €, 8
=i Siel 4 % Wil FHIT Al € |

SIS &1 gededl o Gy § ffetad

T 9 B AR e ?

E

(A) (A) 3R (R) IHT W&l €, T (A)
= Tel = (R) € |

(B) (A) 3R (R) sl Wl €, T (A)
! TEl e (R) TR E |

(C) (A)FE g, g (R) T ¢ |

(D) (A) 7Tera &, T (R) W& € |

Tlt-| B G| § FHferd i ue 3
5T T e bt wEE W WEl TR B ==

HITT

=t - | = - 1
(ST ) (ST e
a. fEcare 1. H<ER
b. U 2. e
C. UrHhe® 3. S
d. T 4, WA
%

a b Cc d
(A 2 1 4 3
B 4 3 2 1
Cc 3 4 1 2
M 4 1 2 3
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18.

19.

20.

21.

22.

The temple of Rajarajesvara is
dedicated to
(A) Kartikeya
(C) Vishnu

(B) Siva
(D) Surya

Identify the dynasty, the rulers of
which called themselves Brahma-

Kshatriya
(A) Pratihara (B) Chalukya
(C) Sena (D) Pala

Who among the following rulers
provided financial help for the
restoration of a demolished Mosque
in Khambhat ?

(A) Bhoja Paramara

(B) Mihira Bhoja

(C) Kumarapala

(D) Chamundaraja

Which of the following dynasties is
known for the involvement of
women in its administration ?

(A) Kalchuri

(B) Gahadavala

(C) Chahamana

(D) Chalukya

Chronologically arrange the

following events and select the

correct answer from the codes given

below :

(i) The collapse of Chalukya
kingdom of Kalyani.

(i) Conquest of Sri Lanka by
Rajendra Chola

(ili) Annexation of Yadava
kingdom of Devagiri to the
Sultanate of Delhi

(iv) The visit of Marco Polo, the
Venetian traveller to South

India.
Codes :
(A () (i) (i) (iv)
B) (@) () (v) (iii)
(€ (@) () (i) (iv)

(D) () (v) (i) (i)

Paper-111

23.

24,

25.

26.

In which of the following works we
get a detailed account of Firoz Shah’s
canal system ?

(A) Futuhat-I Firoz Shahi
(B) Tarikh-I1 Mubarak Shahi
(C) Tarikh-I Firoz Shahi
(D) None of the above

Consider the following statements on
the reforms of Alauddin Khalji :

(i) Confiscation of all grants of
tax-free land.

(if) Introduction of daag and
chehra in his military.

(iif) Abolition of igtas of big nobles
and military commanders.

(iv) Banning of public sale of
liquor.

Select the correct answer from the
codes given below :

Codes :

(A) (i), (i) and (iii)
(B) (i), (iii) and (iv)
(C) (i), (ii) and (iv)
(D) (i), (iii) and (iv)

Who among the following was an
Alvar Saint ?

(A) Appar

(B) Kulasekhara
(C) Sambandar
(D) Venkatanatha

The Book of Marco Polo is primarily

an account of
(A) Political history of South India

(B) Economic history of South
India

(C) Cultural history of South India
(D) None of the above

D-06-13



18.

19.

20.

21.

22.

TeRTSIYeR Af<T 990 ¢
(A) wfaRa®  (B) & @
(C) foroy =t (D) gF=

39 TSTETT i T HITT (ST IEH
319 I STRT-8T et o

(A) widerR (B) =M
(C) ¥ (D) et

frafefed # 4 69 I 3 @R °
TF AR AT % [RER & fou
3TTeh TETIAT UG i off 2

(A) ISTWER (B) e wi
(C) HHNTTA (D) THISITST

feffaa 5 9 fog TotesT & ST
IE-EFeE | ferdt iRt % fow
ST ST & 2
(A) R

(C) =mEH=

(B) st
(D) =g

fFrtafad gemet i Hietshd H T sy

R T ST T FeI ¥ TE W B A

HIfT

(i) AT & AT T H I

(i) T = 510 e | foea
YT hIAT

(iii) T T5T AR 1 feeett Foaqa
T fao

(iv) SFeiE= aET AT diett i gfeTor
YR Y AT

HT
(A) () (i) (i) (iv)
(B) (i) () () (iii)
€ (i) () (i) (iv)
(D) () (@v) (i) (i)

D-06-13

23.

24,

25.

26.

fefefea ° ¥ 69 o 9 e o'
qIETH Pl TeX AT H faegd feoero
faerar € 2

(A) FIRE-T fHITIE!
(B) TNIG-T JaRHIE
(C) dNiE-T STt
(D) SWie ¥ | g T |

ISR faetsll & Rl & == |

frfefad FeEt ) e i

(i) SIRE A S T gEE IS o
i I STed AT |

(i) SO T H T SR R F
AN T |

(iii) o TR AT JAraferar bt “gor
! FHTT HEAT |

(iv) IR H Fres-h foeh W) et
T |

T T T F H ¥ wE W H =
HifeTT

H

(A) (i), (ii) 3 (i)

B) (i), (iii) 3% (iv)

(©) (i), (ii) &R (iv)

(D) (i), (iii) =R (iv)

fAfefad & 9 2/aR 9d %9 4 ?
(A) IR (B) oM
(C) W==R (D) deheT

TR Wl S s e ®9 " aue
AT

(A) IRIOT R T TSR e
(B) SaT0T YRS T 3T e
(C) TeToT YR T WiEpidh SieTer™d
(D) SWIiad H F HIE Tal

Paper-I11



27. Arrange the visit of the following
foreign travellers to South India in
chronological sequential order and
select the correct answer from the
codes given below :

(i) A Nikitin
(i)  Abdur Razzaq
(iii) Caesar Fredrick
(iv) Domingo Paes
Codes :
(A) (@) (i) (i) W)
(B) (i) (i) (v) ()
© @ @) (i) ()
(D) () (1) (v) (i)
28. Match List — I with List — Il and

select the correct answer from the
codes given below :

List -1 List—11
(Old names of (Modern

places) names)
a. Baran 1. Anhilwara
b. Qarachil 2. Bhatinda
c. Tabarhind 3. Kullu
d. Patan 4. Bulandshahar
Codes :

a b c d

A 2 3 1 4
(B) 4 3 2 1
©c 1 2 3 4
(D) 3 2 1 4

29. Concerning the foundation of
Tughlag dynasty by Ghiyasuddin
Tughlag, which one of the following
statements is not true ?

(A) At the time of accession,
Ghiyasuddin’s authority had
been unanimously accepted.

(B) Ghiyasuddin was having at his
disposal a large number of
loyal soldiers who extended
support.

(C) In Delhi the people contributed
a lot to the stability of the
Sultanate.

(D) The treasury of the empire
which the Sultan inherited was
very sound.

Paper-111

30.

31.

32.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : The conduct of
ruling authority in the Sultanate
of Delhi was governed by the
Shariat.

Reason (R) : The ideal of the
state was not to convert the
entire country from dar-ul-harb
into dar-ul-lslam.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Shaikh Sharfuddin Yahya Maneri
belonged to the Sufi Silsilah

(A) Firdausi

(B) Chishti

(C) Suhrawardi

(D) Nagshbandi

Which one of the following is not

correct in respect of Baburnamah ?

(A) The memoir of Babur is a
historical source of great
literary value.

(B) The events described are not in
chronological order.

(C) Babur described every good or

bad act  with utmost
impartiality.
(D) Historical events are

inextricably mixed up with
Babur’s own opinions,
sentiments and judgements.

D-06-13



27.

28.

29.

= Tt At st gheror 9Ra it A
=l fAfspATaR 9 | ofd gy T T
FEH H Tl I B AT B

(i) © Mfeam

(i) FrgisH

(iii) &R g

(iv) <= e

FT

(A @) (@) @) @)

(B) (i) (i) (iv) (i)

€ (@ () (i) ()

(D) () () (v) (i)

gl-| & gE-1l T gafera ST 31T
UEd FZ W el I T TI HINT
et - | gt - 11
(@ R AW) (s )
a. sH
b. et
C. TRET
d. T
%< .

(=N

Py

(A)
(B)
(©)
(D)

R T §R T a9 i Al

T gt FEeiad s H 9

A T HIA el &l § ?

(A) TEmarEg 8a 999, TgEE &
AMYHR T THAT T iihd fomar
T |

(B) WRENR % U WX fedr o
TEER fquEr o S 58 THeA
T |

(C) W #t ferar % fou feoett &
QAN = AR AR T |

(D) HodAd & Gl S 39 fored |

THeT 55 4ge o |

WKL A~ADND
NN W WT
= W N -k O
S Ll R =8
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30.

31.

32.

T ST e E, W H S (A)

3R e 1 % (R) FeT T & |

i (A) oot & Foaad @
H I Ul 1 TR
IR gRT Gemferd gidr o |

FROT(R)  : I59 H1 &G U7 9
H IR-3c1-86 § IR-SA-TEAH o
gRafdd T = o |

UET T ¥ Tel I H I I |

&<

(A) (A) @ (R) ST W&l & 3T (A)
=l (R) &t == € |

(B) (A) T (R) Ml Wl & Wy (A)
1 (R) T&l = Fal ¢ |

(C) (A) el & < (R) Tord & |

(D) (A) Terd €, R (R) Tl ¢ |

3G WEEH AMfEA B g Feraer @
Ty T &

(A) fwEE
(C) el

(B) ferwat
(D) “TRTE=T

ffefed 5 9 SR e & 9= o

I | FHU TE TEl & 2

(A) SR & TRUT AYH Hiieicash
e T UIelas &id & |

(B) & aftTd T HIThFATER Tél
JMEE |

(C) R A U TSI g1 &
Tcafies Teerar @ o fFar €

(D) Uffeifds =2 @R & st
forami, e ofi foos @ =@
TR et T € R 3% T g ¥
AT et R T b |
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33.

34.

Given below are two statements, one
is labelled as Assertion (A) and other
is labelled Reason (R) :

Assertion (A) : All Jagirdars were
primarily the mansabdars but

not all mansabdars were
Jagirdars.

Reason (R) : Some mansabdars
were paid in cash and not
through Jagirs.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Consider the following statements

concerning the Rajput States of

Central India and select the correct

answer from the codes given below :

(i) Baghelas ruled over Bandogarh

(i) Dhandera was a Rajput
principality in the Suba of
Allahabad.

(iif) Orcha was located on the route
linking the North and the
Deccan.

(iv) Orcha was in the possession of
the Bundela Rajputs.

Codes :
(A) (i), (i) and (iii)
(B) (i), (iii) and (iv)

(C) (i), (iii) and (iv)
(D) All of the above

Paper-111
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35.

36.

37.

38.

Daag and Chehra in Mughal military

administration  were introduced
during the reign of

(A) Akbar

(B) Jahangir
(C) Shahjahan
(D) Aurangzeb

In the battle of Haldighati, Rana
Pratap of Mewar was defeated by the
Mughal army led by

(A) Abdur Rahim Khan-i Khanan
(B) Raja Man Singh

(C) Raja Bhagwan Das

(D) Saadullah Khan

Iwan in  Mughal architectural

terminology means
(A) a “facade-gateway” or high
portal

(B) concave element in vaults,

usually arched.

(C) configuration in the shape of a
square or rectangle with
corners

(D) a pillared construction of any
dimensions and plan

Under which Mughal emperor
naturalist trends in Mughal painting
reached their apogee ?

(A) Humayun
(B) Akbar
(C) Jahangir
(D) Shahjahan
D-06-13



33.

34.

T T FET €, TH B ATERA (A)
3 fgeia &t 7% (R) Fe1 T e |

AWHAT (A) © TEF TFRER Tt
I ¥ TSR 91 W] TA®

GERR STHIRER el o1 |

FHRT (R) . TP FAGEERI H AH
ST ohT ST o, ST g ey |

o

TS $ F el ST I 99 HIT |

%<

(=N

(A) (A) @ (R) S WET € 3R (A) I

(R) W&l == & |

(A) T (R) SIHT Tel & T (A)
(R) T&t =me @i € |

(A) T &, = (R) TAd & |
(A) Tord &, T (R) W&l € |

(B)

(©)
(D)

T 9RA & A TSl O Harad

fefafed #o W fgeR FiNT 3T

e fST el F TRl IR AT T HIT

(i) SEATE T FTEATST T I 7 |

(i) ToRER g& H €U Tw T
T ot |

SN I 3N oRET o |9eh A1
o e o |

STIE 3T ST o oot § T |

(iii)

(iv)
H
(A)
(B)
(©)

(D)

(i), (ii) 3 (iii)

(ii), (iii) 2 (iv)
(i), (iii) 3R (iv)
ST et
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35.

36.

37.

38.

TAT SR e A T Jome | forareh

TIHET § YRS g 2
(A) BT (B) SRR
(C) vmeswer (D) e

TRl Al % gF W HATg % SAfufd
HERIOT YaTd ohl Tl ST = WRINSTl fehat
ST Aga T o

FFEM GH-T G

T AHAE

ST {1

(A)
(B)
(©)
(D) WrgeeT G

TAM T T SRRl IRt § 37 & —

(A) T 7@ VRER ATl IT
TERTER

TE@H H FadA dd, S U

HEERR Bl € |

HET  Wled SR
AR & T § Ho=are
fhdt ot SR 3R ASFT &
TR =

(B)

() ST

(D)

TFE T[Tt SIS RS o ShIcT H TTeT Terehetl
H Ui ¥l I o0T ST0AT TRTeRTT
U UET AT T 2
(A) &g

(C) ~wFR

(B) 3+
(D) SmESTer
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39.  Who among the following remarked
that, “Unlike contemporary early
modern European kings, the Mughal
emperors did not depend upon loans
from private financiers to meet
routine expenditure.” ?

(A) Irfan Habib

(B) Sanjay Subrahmanyam
(C) W.H. Moreland

(D) J.F.Richards

40. Match List — | with List — Il and
select the correct answer from the
codes given below :

List-1 List— 11
(Place) (Founder)
a. City of 1. Rana
Bikaner Kumbha
b. Kirti Stambha 2. Rao Bika
(Chittor)
c. City of 3. Alp Khan
Ahmedabad
d. City of 4. Ahmed Shah |
Hoshangabad
Codes :
a b c d
A 1 2 3 4
B) 1 2 4 3
<c 2 1 4 3
b 2 1 3 4

41. Which of the following pairs is not
correctly matched ?

Institution Location
(A) Khudabaksh — Patna
Library
(B) Bhandarkar — Pune
Oriental Research
Institute
(C) National Library — New Delhi
(D) Salarjung — Hyderabad

Museum
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12

42.

43.

44,

Arrange the following Peshwas in
chronological order :

(i) Balaji Bajirao

(i) Bajirao Il

(iii) Madhav Rao |

(iv) Madhav Rao Narayan

Select the correct answer from the
codes given below :

Codes :

(A) (@) (i) (v) (i)

(B) (@ (i) (v) (i)

(€ @) (i) (1) (v)

(D) (i) (i) (v) ()

Which one of the

statements is not correct ?

(A) In the Persian sources of the
late medieval period of India,
account on the life of rural
society is very limited.

(B) The foreign travellers of the
period who visited India in
their accounts provide hardly
any account on rural society.

(C) The regional literary sources
help us to know the life and
conditions of the rural people
to some extent.

(D) The large mass of revenue
records dealing with land
revenue are of no help to
construct the history of rural
society in medieval India.

following

One of the following was not a major

result of the Permanent Revenue

Settlement of East India Company :

(A) It created a class of loyal
landlords.

(B) Cultivators were put under the
mercy of zamindars.

(C) It hampered the process of
revenue increase to the
company.

(D) Agricultural production got a
major boost.
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39. FrefafEd ¥ & I8 % fhaen & 6 0@
IMYFE FI JIAT T - i
3T FHHCI el ARLME S0 ST
% T % fau ot gEeri %, Fo0 W
R TR e & 0
(A) TEE g&T
(B) S gamHMaH
(C) ==, Td. ARcvS
(D) Siuw R=ed

40. G-l F G-l T GAferd FTT 3R T8
FE T TE ST I TG HIT

=i - | =t - 1
(FI) (FITTH)
a. ¥ AHET 1. IO R
b. Hifd @™ (Fadle) 2. T i
C. Y IBRER 3. 9 &l
d. @ EREER 4. ITEHIE |
%z
a b c d
A 1 2 3 4
B 1 2 4 3
C 2 1 4 3
D 2 1 3 4
41, To=tefEd @ & ¥ &9 @1 gH T
TR § gAferd Tél € ?
eI =
(A) TEEIAERT - T
(B) WUSRE &= - O
food e
(C) R TR - 7 Tt
(D) WERST HEH - e
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42.

43.

44,

frafafad  demenstt & FIeHATER
GG HIT ;

(i) STt SeRE
(i) =R
(i) TR |

(iv) TR AR

TS $Z T el ST T TI HINT ;
T :

(A) ()
(B)
(€
(D)

(i) (iv) (ii)
(i) (i) (v) (i)
(i) (i) (@) (v)
i) (i) Gv) ()

freferfiad o @ =i a1 %o w8l 7@ & 2
(A) 9RA & IR T HA &b ERA
Hdl § WHOT FHS S S{aT
feraroT g At & |

T AR H 9RA i AT B Al
foeelt =t 3 oo @EST
g A Taaror g & |

T el aid ol &g a%
T AT & Sier 3T fefa st
SHHR T R H R fow
TEEF & € |

I O Gt o Aot
H TG OE, TEHCT 9RT &
TTHIOT HAT o S8t o 0T §
TETH Tl € |

(B)

(©)

(D)

fr=fefaa 9 9 &9 91 S Sfear At

% T T TR H T AT

TEl ot ?

(A) & STHIRSRT 1 Th THER o
wer fopa |

FHIAHRI 1 STHERI T FAT W
Big feam |

FOAT H AT ghg ulEar |
THE 3 TS |

H IcqET i [T Sgrar et |
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45.

46.

47.

48.

Who was the Governor of Bengal
between 1667 and 1669 ?

(A) Robert Clive
(B) Verlest

(C) Cartier

(D) Countde Lally

The founder of the Nizam’s State in
Hyderabad was

(A) Nizam Ali Khan

(B) Muzaffar Jung

(C) Chin Lulich Khan
(D) Mir Osman Ali Khan

Arrange the following revolts in the
chronological order and select the
correct answer from the codes given
below :

(i) Koli

(i)  Santhal

(ili) Chuar and Ho

(iv) Waghera

Codes :

(A) (i) (v) () (i)
(B) (i) (v) (i) (i)
(€ (v) (i) () (i)
(D) () (i) (v) (i)

The English East India Company lost
its monopoly of Indian trade by
throwing it open to the Britishers by
the Charter Act of

(A) 1793
(B) 1813
(C) 1833
(D) 1853
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49.

50.

o1.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled Reason (R) :

Assertion (A) : The British had no
coherent place for the princes
in their imperial ideology.

Reason (R) : The princes were
kept apart from each other.
These traditional rulerships
served the purpose of
announcing India’s enduring
‘differences’.

Read the above statements and select

the correct answers from the codes

given below :

Codes :

(A) (A) is correct but (R) is false.

(B) (A) is incorrect but (R) is
correct.

(C) Both are correct and (R) is the
correct explanation of (A).

(D) Both are correct and (R) is not
the correct explanation of (A).

Who was the Governor of Madras in
1661 ?

(A) Fox Croft

(B) Streynsham

(C) Gerald Aungier
(D) Charles Boone

Which one of the following policy

document was called the ‘Magna

Carta’ of Western education system

in India ?

(A) MaCaulay’s Minute of 1835

(B) Indian Education Commission
Report of 1882

(C) Charles Woods Despatch of
1854

(D) Releigh Commission Report of
1902
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45.

46.

47.

48.

a9 1667 AT 1669 & & A I
T I &1 ?

(A) & FoART
(B) i
(C) e
(D) ST S At

TS o ST T2 BT T 9T —
(A) oW el @=

(B) TSTHRT ST

(C) 7 offersr @™

(D) HR I TelEr

frAfafad fogiel & Hethd o ey
3R A U F2l ¥ T I H T
FHIT

(i) e

(i) o

(i) =R 3fer

(iv) oo

e

(A) (i) (iv) () (i)
(B) (i) (iv) (i) (V)
(€ @v) @iy @) (i)
(D) () (i) (@v) (i)

forg =T e 9 YRAE AR S A
ST & folw e T SR e EreAn
AT % feTT THT 8 T ?

(A) 1793
(C) 1833

(B) 1813
(D) 1853
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49.

50.

o1.

T S FHE T W W T | uEH B

e (A) 3 T H 0 (R) el

TE |

afirmerm (A) : fofesr smm & U
oM R o fIw 7o oMt i
¥ IS FET T T AT |

FHROT(R) o 3TN TS H TH
W ¥ e W 4 | W
TR IR 3 R % S 9Y
I WIS X o TASH Sl I R |

STYFT FAT B UfeT IR UEH FZ

TET 3T 1 TF HIT |

E

(A) (A) FE ¢, T (R) T & |

(B) (A) o &, W (R) W& ¢ |

(C) (A) 3iX (R) 3HT el & 3R (A)
! (R) WEl e € |

(D) (A) 3R (R) I W&l & W= (A)
1 (R) W&l e T@i ¢ |

v 1661 | Ffefad § | i T5Td &
TR 2T ?

(A) i ST

(B) wEem

(C) rweE AR

(D) =¥

fefefad =ifq swamast & 9 6 9rd
H qrvered TOTe Uid T ATk el
ST & ?

(A) Hehret T 1835 FM e

(B) WRar ferem st bt Ruie 1882
(C) =med g=d FT 1854 1 feuiw
(D) ot 3mEnT Rare, 1902
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52.

53.

54,

In whose honour Gateway of India
was built ?

(A) King George V
(B) King George VI
(C) Prince of Wales
(D) Queen Victoria

Match the List — | with List — Il and
select the correct answer from the
codes given below :

List— I List— 11

a. Dadabhai 1. Indian Mirror
Naoroji

b. Dwarakanath 2. Rast Goftar
Vidyabhushan

c. Devendranath 3. Swadesh-
Tagore amitram

d. G.S. Aiyer 4. Somaprakasha

Codes :

a b c d

A 3 2 4 1

B 2 4 3 1

© 2 1 3 4

oy 2 4 1 3

Veda Samaj founded under the

initiative of Kesab Chandra Sen in
1864 in Madras was renamed as the
Brahmo Samaj of South India in
1871 by

(A) Sir R. Venkataratnam Naidu
(B) Rajagopala Naidu

(C) Subbarayala Chetti

(D) K. Sreedharalu Naidu
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55.

56.

Arrange the following Viceroys in
chronological order and select the
correct answer from the codes given
below :

(i) Lord Reading

(if)  Earl of Willingdon

(iii)  Sir John Lawrence

(iv) Earl of Dufferin

Codes :

(A) (i) (iv) (1) (i)

(B) (i) (@) (i) (v)

(€ (i) (i) (@v) ()

(D) (v) (i) (i) (i)

Given below are the two statements,

one is labelled as Assertion (A) and

other is labelled as Reason (R) :

Assertion (A) : Indian
Commission reiterated
‘Paramountcy  must
Paramount’.

Reason (R) : The British were
disenchanted with the new
corporate princely culture.

States
that
remain

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) (A)is correct but (R) is false.

(B) (A) is incorrect but (R) is
correct.

(C) Both are correct and (R) is the
correct explanation of (A).

(D) Both are correct and (R) is not
the correct explanation of (A).
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52.

53.

54,

e 3 3w Sfear &1 FEIT Fpas T
T fopam T o 2

(A) 1 STV
(B) TSt VI
(C) i 3w oow
(D) TeRH faeeiian

Tll-1 Bt G-Il & GAfera wifse 3R e

T30 T 2t T TEl ST T =TT IS
el - | T - I
a. SRS AR 1 Efem fa
b. FREMY foamqmor 2, U THRR
C. SO MR 3. R
d. ShEd. =R 4, ST
FT
a b ¢ d
A 3 2 4 1
® 2 4 3 1
< 2 1 3 4
) 2 4 1 3

T TS ST H9Te O I TEA W 1864
T TS § T g7 I R gaRT 1871
T IR0 9N % SR SEN % A 9
e e ?

(A) W AR, T g

(B) SHITEA Arrg

(C) IRt et
(D) . eRe] =g
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55.

56.

PTG SRl Sl HOBRT | oY
3 A fST T el F W IR B AT
FHITT ;

() e e

(ii) ot st fferme

(iii) & i o

(iv) 3% 3 SwRe

FT

(A) (i) (v) (1) (i)

(B) (i) () (i) (iv)

(€ (@) (i) (v) (i)

(D) (v) (i) (i) (i)

T T FH T W E | wem @

e (A) 3R T F T (R) T

T |

AfH (A) | ORI T SN A
@it e 6 garemar

HaT=d & & AeT |

FHROT (R) : WS & FaH dHfEH
STl UEHA § Hiew & T
a7 |

IR T W AT SR vET FE §

TEl I T T HIAT |

E T

(A) (A) &, W= (R) Terd & |

(B) (A)Terd & o= (R) Wl & |

(C) (A) 3R (R) sHI Wl € &R (A)
i (R) Gl A € |

(D) (A) 3R (R) S Tl € = (A)
1 (R) Tl e Tl ¢ |
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S7.

58.

59.

60.

Arrange the following Commissions
in the chronological order and select
the correct answer from the codes
given below :

(i) Kothari Commission

(i) Radhakrishnan Commission
(iti) Sadler Commission

(iv) University Grants Commission
Codes :

(A) (i) (i) (v) ()

(B) (i) (i) (v) ()

(C) (v) (i) () (i)

(D) (i) (i) () (v)

Mrs. Annie Besant became the first
woman President of Indian National
Congress in the year

(A) 1916
(B) 1917
(C) 1919
(D) 1921

Who said in 1904 that “Bengal
United is a power”, “Bengal divided
will pull in several different ways.” ?

(A) Lord Curzon

(B) Herbert Risley
(C) Lord Minto

(D) Sir Lancelot Hare

Shyamji Krishna Varma set up the
India House in London to work for
India’s freedom in the year

(A) 1902
(B) 1905
(C) 1907
(D) 1909
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61.

62.

63.

64.

Who has called Gopal Krishna
Gokhale a rare combination of “the
practical, strenuous worker and the
mystic dreamer of dreams” ?

(A) Mrs. Sarojini Naidu
(B) Mrs. Annie Besant
(C) Ganesh Savarkar
(D) V.D. Savarkar

Vaikom Satyagraha was launched by
Gandhiji in Kerala to

(A) ban devadasi system in temple
services.

(B) remove untouchability

(C) for the appointment of non-
Brahmins as priests

(D) open the temples for the entry
of avarnas or lower castes.

Match the List — I with List — 1l and
select the correct answer from the
codes given below :
List— 1 List—11
a. Collins, Larry 1. Satanic
and Lapierre Verses
b. Judith Brown 2. The Great

Divide :
Britain-India-
Pakistan

c. Salman 3. Freedom At

Rushdie Midnight

d. H.V.Hudson 4. Gandhi’s Rise
to Power

Codes :

a b Cc d

A 3 4 1 2

(B) 4 2 3 1

< 1 3 4 2

(D) 3 1 4 2

Who has remarked, ‘history is more
interesting than a novel’ ?

(A) David Hume (B) Toynbee
(C) Livy (D) Tacitus
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S7.

58.

59.

60.

frfefad smar = weess § ey
3R e T He T T SW B T
HIFTT

(i) FRRY amEm

(i) TurPwE A

(iii) &R amEm

(iv) Torvafsmrer sFEm smEm

- T

(A) (i) (i) (v) (1)
(B) (i) (i) (v) (V)
(€ (@v) @iy () (i)
(D) (i) (i) () (iv)

et T 98T fhe od wRdE TEE
ST I Taetl Tiectl 3TedeT ST of ?
(A) 1916

(B) 1917

(C) 1919

(D) 1921

1904 H foha= er o fop “Tge sme
T TAT” ?

(A) TS HSH

(B) @de Ruer

(C) oI faer

(D) T AT &R

ST HOT T 7 FEeEd § 9 6
AT IR Tl AT o [T T A e
e | gear g3y wenfud fohar ar ?

(A) 1902

(B) 1905

(C) 1907

(D) 1909
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61.

62.

63.

64.

Trefertaa 5 | e Muer Ho7 e
H IR, HUS HEHAT AT T
H G WG W IO T IR T
FRT§ 2

(A) e TS TG

(B) il Tt I¥e

(C) TTOreT WIERHT

(D) @2l FeRHT

JHT TAWE ST F HA § {6

1T e fofalm 2

(A) TRT & o™ T & I &
forw |

(B) 3THIYIAT FI T A & 1T |

(C) TR-ST&IUT =l YSTRT oTTa & ferw |

(D) #fY & gR F= wfoar sreren
HEUT % T % {10 Gera™ &q |

gl & gdi-ll ¥ gafed ST iR
T T MU % W e W B A
HIMT

=it - | =it - 1
a. Ffer g, a1, QI 989
R AU

b. Sfea s 2. T U< feareT :
BliEaTssic)

C. ToE Ol 3. WhieH U< fHeee

d. Taa geEd 4. MES IEA L
LTy

FH !

a b Cc d

A 3 4 1 2

B 4 2 3 1

© 1 3 4 2

M 3 1 4 2

Tg feoqutt fhem &t € I “sfaere su=ma

T 3tfer Bt gl &7 2

(A) foe gy (B) <=t

(C) ferat (D) <faed
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65.

66.

67.

Concerning relation of history with
other subjects which one of the
following statements is not correct ?

(A) Modern economic history is
supported by statistical data to
a considerable extent.

(B) For a long time history was not
considered as a branch of
literature.

(C) The relation between creative
ideas and their impact on
society has resulted in the
formation of intellectual history.

(D) Time and space factors give
history its correct perspective.

Who among the following declared
that the postmodernist ideas were a
menace to historical study ?

(A) Arthur Marvic

(B) Holden Furber

(C) Richard J. Evans

(D) H.E. Barnes

Consider the following observations

relating to Renaissance and select the

correct answer from the codes given
below :

(i) Renaissance was marked with a
new kind of learning signified
by a spirit of inquiry into every
aspect of human thought.

(i) More emphasis was given to
man and humanism than to god
and spiritualism.

(i) The study of the works
produced by ancient Greek and
Roman scholars was not given
importance.

(iv) The humanist movement which
ushered in Renaissance could
not emancipate the western
thought from the bondage of
medieval Christianity.

Codes :

(A) (i) and(ii)

(B) (i) and (iii)

(C) (i), (i) and (iv)

(D) (i) (i), (iii) and (iv)
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68.

69.

Match the List — | with List — Il and
select the correct answer from the
codes given below :

List—1 List—11
a. Montesquieu 1. Divine
Comedy
b. Dante 2. The Spirit of
Laws
c. Rousseau 3. The Social
Contract
d. Machiavelli 4. The Prince
Codes :
a b c d
A 2 1 3 4
(B) 3 4 2 1
C) 4 3 1 2
(D) 2 3 4 1
Match List — | with List — Il and

select the correct answer from the
codes given below :

List— 1 List—11
a. Jacob 1. The Society of
Burckhardt Jesus
b. Ignatiusof 2. Critique of
Loyola Pure Reason

c. John Calvin 3. The
Civilization of

the
Renaissance in
Italy
d. Immanuel 4. Institutes of the
Kant Christian
Religion
Codes :
a b c d
A 3 1 4 2
(B) 4 3 1 2
) 3 4 1 2
M 1 3 2 4
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65.

66.

67.

31 fowat & Wy 3fe F Ay F AN |

fr=ferfiaa & @ =i 91 o W@l @ € ?

(A) 3gHF Mfah fdera w1 gHeH
FIH BT O GiTHE Aihel 9
ERIS IR

(B) & WHT T (@I FI Hifecd

SIET &l | S o |

(C) ToMTcas MR 3R 0T W 3%
N % HRUT Sifge e
T gem &

T AR ™E U9 FRE §, S
fera i e uiwieT URH R € |

fAfefad & 9 foa @ =won =7 of &

ST YAt % foem  ufdetas
3T & oTT Uk @ € 2

(A) eRRAMgE  (B) @loed ®eR
(C) T=ES. zam (D) UH. g &

(D)

TSRO &I Hafga  Hererad

feoforat R foarR ifse iR = feT T

Fl T TEl 3T H 947 BT

(i) YFSIRYT TF FHR H 5 A Hf
WL Al ¢, S A o &
T Uee] H R @ e %
e ol Tehe AT & |

(i) W SR AR B T H

O 3R AHEAEs T 3 e

fearmr g |

eh 3T I & Ui fagHn gRo

Tea Tt & e W Hewd Tl

feam |

AFedERl  HReH ¥ 3

ufgeddt  foEm @
HEHTeN SaTeHd & Suei | qferd
T feeT T |

(iii)

(iv)

(A) (i) 3 (ii)

(B) (i) & (i)

(C) (i), (iii) 3R (iv)
(D) (i), (i), (iii) 37 (iv)
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68.

69.

gl gAl-1l % Ty gaferd it

AR A T T R @ W S w wE
FHITT
et - | gt - 11
a WRER 1 e wmEE
b. & 2. T fore 3iiw wist
c. &4 3. T QiU e
d. HeEEet 4, TfE
<
a b Cc d
A 2 1 3 4
B 3 4 2 1
Cc 4 3 1 2
@) 2 3 4 1
Tl 1 -1 3 T GHied HitTe
3R A= T T g2l § wE S
I ;
=t - | Tt - 11
a. SIHd @S |, T GRS IHE
Sk
b, ¥HeE AE 2, fpicw #Hiw @R
AT ESE|
c. S Hfeem 3, T fafaeesive
3 T FRE
3 gt
d. A FE 4, IR A®T
EdCCEERNGIS B
FHT
a b c d
A 3 1 4 2
B 4 3 1 2
© 3 4 1 2
M 1 3 2 4
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70. The Durham Report advocated the
need of a gradual emancipation of
British Colonies towards a state of
complete independence. The
recommendation was applied to
(A) The Colonies in Africa
(B) The Colonies in Asia
(C) The Colonies in Europe
(D) All of the above

Read the following passage and answer the
questions numbers 71 to 75 :

Asoka (c. 273-236 B.C.), the grandson of
Chandragupta, styled ‘the beloved of the
gods’ and ‘of lovable appearance’,
succeeded to the throne of Pataliputra by
winning a fratricidal war. Nine years
after his accession he rounded off the
empire which he inherited from his
grandfather by annexing Kalinga. The
Kalinga war brought to the emperor a
violent reaction, no doubt under the
influence of Buddha’s teachings. He
regretted the vast numbers of men
killed or taken prisoner; he bemoaned
the lot of pious men and women to
whom befell ‘personal violence, death
or banishment from loved ones’; and he
eschewed for ever war as an instrument
of governance. ‘If any one does him
wrong, the “beloved of the god” must
bear all that can be borne. He embarked
on a career of Dharma Vijaya, conquest
through Dharma. He set up a network
of missions to preach Dharma; declared
that all men were his children; ‘and
what little effort I make, — what is it for
? — (in order) that I may be free from
debt to the creatures, that | may render
some happy here and that they may gain
heaven in the next world’, said he. The
Emperor constituted himself as the
guardian of the moral and material
welfare of the world.
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71.

72.

73.

74.

75.

Asoka is throughout referred to as
‘Devanampiya’ and ‘Piyadasi’ in his
edicts except a few. Which are such
exceptions ?

(i) Maski
(i) Gujarra
(iii)  Nittur

(iv) Udegolam

Select the correct answer with the
help of the codes given below :
Codes :

(A) (i) only

(B) (i) and (ii)

(C) (i), (iii) and (iv)

(D) (i) (i), (iii) and (iv)

Which is that source which gives a
lie to the tradition of a fratricidal war
of Asoka ?

(A) Asokavadana

(B) Dipavamsa

(C) Asokan Rock Edict IV
(D) Asokan Pillar Edict VI

Which one of the following did not
form part of the Asokan empire ?

(A) Tamilakam (B) Saurashtra
(C) Kandahar (D) Kashmir

In which of his edicts does Asoka
express remorse for the sufferings
caused by the Kalinga war ?

(A) Separate Kaling Edicts

(B) Bhabru Edict

(C) Rock Edict X1l

(D) Rock Edict IV

In which of his following inscriptions
did Asoka declare that all people
were his children ?

(A) Minor Rock Edict |

(B) Rock Edict XII

(C) Separate Kaling Edicts
(D) Rummindei Pillar Edict
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70. 3@ ®I U ¥ ol w@as T o feen |

3TUST & IuFAeT o dR-4R gied &t
SMETIHAT T GHAT fohaT T T, TE
TgmRer H=fafed & 9 feg W @] &
TE ?
(A) 3T H U
(B) TR § U
(C) =4 ¥ 3urerer
(D) S @l

feAfeRaa TereT i afew @@ e |, 71 9 75
HT 3T FIT

TS U e (273-236 )
8 samitg @@ast ® ) e fuEsia
(et wer T ¥ | Wg-gw ® ot g
Ty % e W e E guoo|
ToerETeg eF & T 9 g ST H I
STdet 38 39 TS & qUal USH i S
SR 37T JeST | T TR o |

HAGT T& H T & FW AR
TR g2 | Mg 9% diansear g5
Toremmatl o HROT gF o | 3TN I URI W= H
AR T T ST gT Gl W B/E AT | S
IR 6T 31T =t &6t g9 &1 5.9 o 5
W Al &, gy gar oo IS |
TS 1 3T UST T, 36 I o ST
% WY § Fog % SUFNT T G & fe1w Tqetisier
A gU FeT foF “Afs 3@ I THTH g & af
g e qH T T TeA T S T e
HT g % d% S8 gy foorg (37 g9 &
g fosm) % ww W WO
o | 3= g9 % TER % foT gH-ueRe
T a1 (F2deh) TMUa {6 | =i S
o ot & B A € 1 S g SoT o
o 3R T BT A 74 § AT € - a8 69
e & 2 safeT o | v o T 9 e @
TF, § FSH H 9 €Al W TG H T 37
3 T A% | @ U X Teh | GHIE F 370
3T & HOR & Afdd U ifdsd HeamT &
SATATEH Y e § TR HaT |

71.

72.

73.

74.

75.

FT NUART Hl DIEH b B Fooid
SHh @i iyl § amitE e
‘fefa’ & ETH g T | F 3R A
qE?

(i) T

(i) T

(i) frge

(iv) SMem

=i T T e B T § T ST B
Waﬂﬁq:

B

(A) e (i)

(B) (i) @ (ii)

(©) (i), (iii) =R (iv)

(D) (i), (ii), (iii) 3 (iv)

g e DI T & S 3WNF & WG-T§
! IR I FSAT & 2

(A) IRIHEEH

(B) =R

(C) awiie =il = e

(D) 379N I WIAaT W

T & § 9 3TN & AT |
[T et ar ?

(A) ditersy (B) ®RmZ

(C) H<ER (D) HTER

0 R e | 3TN HAST I8
% AT i iR W STuAT uvEET
e T & ?

(A) I FHieTeT MerE

(B) ] swerE

(C) wRedt Freter™

(D) irern ForeTerE

frefefea & 4 o fa s o
3TINF = I TOT Y T T AN ST
FAE§ ?

(A) TEeT o Tt

(B) dwRedt o™

(C) 9o HiergT s

(D) T T
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